P-1

A= B
20174 6H 18H (H)
W BT o
FTE I PR :
HDCP EFR (%) 1 999.9  HDCP LBR (%) : 999.9
4 j N\
g | = & | K 4 oUT | IN GROSS| HDCP | NET
' B © W EAE 45 45 90 | 27.0| 63.0
YR © mwa % 41 40 81 | 17.0| 64.0
ML | © H BS 44 42 86 | 21.0| 65.0
YA e YE 44 46 90 | 25.0 | 65.0
VA | RKE e | 41 43 . | 8 | 17.0 67.0|
(v =R = 50 43 93 | 26.0| 67.0
LA wmH R 47 48 95 | 27.0| 68.0
8z HME  FEH 47 48 95 | 27.0| 68.0
9L &= G 44 43 87 | 17.0| 70.0
R VA | A Fx | 4 . 46 . | 90 |20 700/
11432 M| oL 46 44 90 | 20.0 | 70.0
127 ® ERET 49 42 91 | 21.0| 70.0
131 frrgy E7 44 1 46 90 | 18.0| 72.0
14437 B A 44 . 46 90 | 18.0| 72.0
R YA | RS | 440 47 )91 |19.0| 7200
16/17 i 45 1 47 92 | 20.0 | 72.0
1747 A HE— 49 49 98 | 26.0| 72.0
1841z W AT 42 48 90 | 17.0 | 73.0
1947 frrey 4R 47 46 93 | 20.0| 73.0
S2002 | I oKE | 4T 50 |97 | 240 7.0
2147 [ N 43 55 98 | 25.0| 73.0
22437 T AR 47 44 91 | 17.0| 74.0
2331 (NE D N | 51 47 98 | 24.0| 74.0
2447 W A E 47 51 98 | 24.0| 74.0
A | I R | 48 5L o199 | 2.0 740
26f7 EAS Pk 49 . 51 100 | 26.0 | 74.0
27161 HT —c 51 1 50 101 | 27.0 | 74.0
28L. HE #= 54 : 48 | 102 | 28.0 | 74.0
2941 )N e 50 @ 42 92 | 17.0 | 75.0
1V VA | A RE | 48 45 . 1 93 | 180 7.0
3I/L i iz 47 48 95 | 20.0| 75.0
32ir LN 50 @ 43 93 | 17.0 | 76.0
33\ UNEESN 43 51 | 94 | 18.0| 76.0
34437 S OETH 47 ¢ 52 99 | 22.0 | 77.0
1A ZEP N v S 51 & 5 . . 107 |} 30.0 77.0
36/\7. BH EEZ 44 51 95 | 17.0| 78.0
37HL e J\RR 53 1 47 100 | 22.0 | 78.0
38f7 SeH FEkE 46 55 101 | 23.0| 78.0
39iL A EIE 53 . 52 105 | 27.0 | 78.0
(_ 4007 NE AR 50 1 47 97 | 18.0 ] 79.0 )
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pP-2

A= B
20174 6H 18H (H)
W BT o
FTE I PR :
HDCP EFR (%) 1 999.9  HDCP LBR (%) : 999.9
4 j N\
(CIRUAN I O I AV < OUT  IN GROSS| HDCP | NET
414L /NP A 52 45 97 | 18.0| 79.0
4241 HE BEE 51 49 100 | 21.0 | 79.0
4345 it WAk 46 53 99 | 19.0| 80.0
444L THE A8 —BR 52 48 100 | 20.0 | 80.0
YA | O S 53 & a8 . 101 | 21.0 8.0
4643 HA iR 48 54 102 | 22.0| 80.0
ATHEL AR 49 © 54 103 | 23.0 | 80.0
4807 FEV 2 3 51 @ 52 103 | 22.0 | 81.0
4907 AN T 54 ¢ 50 104 | 23.0| 81.0
1V A | pRE e 59 . 5L o 110 | 29.0 8.0
514L HEH =0 56 | 55 ! 111 | 30.0 | 81.0
52/ HH OE 49 52 101 | 19.0 | 82.0
53f\L. R EE 53 | 52 105 | 23.0| 82.0
5A{T Bk fEfE 45 55 100 | 17.0 | 83.0
1A HiE ] 56 53 109 | 26.0 8.0
560 mHEOSE 58 | 53 111 | 28.0| 83.0
YCiva M T 49 52 101 | 17.0 | 84.0
B8AL % T 54 ¢ 49 103 | 19.0 | 84.0
590L FH E& 54 © 52 . 106 | 22.0 | 84.0
eofr HFH OB ] 58 : 49 1 | 107 | 23.0] 840
61137 HEE B 49 . 55 104 | 19.0 | 85.0
620L. FEM AR 59 49 108 | 23.0 | 85.0
631ir W e 54 © 57 111 | 25.0 | 86.0
64{T HB 72— 57 | 58 115 | 29.0 | 86.0
oe5pr | ] = S B 60 : 49 109 | 22.0 ) 87.0
66/1L iy e 53 . 57 | 110 | 23.0 87.0
67\ ey 0% 61 57 118 | 30.0 | 88.0
68/ BA BBRER 52 55 107 | 18.0 | 89.0
6937 o W 67 @ 49 116 | 27.0 | 89.0
LY A | faA Em ] 65 & 56 . .| 121 1 30.0 91.O}
TIAL fiE 2 52 61 113 | 17.0| 96.0
T2/\T. K FEK 55 | 67 122 | 25.0| 97.0
737 Hhd ik 66 @ 62 128 | 30.0 | 98.0
\§ J
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